N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy
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N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |

[4] 1] 2] 1]
X < x X
Q Q [} [}
g g g g
g 20 £ g
=
10° 3
10?
10 :
T el T T N | TN
o g v ' : ) g v
2 3 : Y 8 3
i r gt EEEEERTR i 4
: : : R SRRETE LR
WE]“WH |
10 20 30 %5 =20 -10 0 10 20 30 ¥ 20 -10 0 10 20 30

3
track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


